[ Efficiency vs vertpos |
0.2r

5 S S S S
T e s e
SV SN SR AN SN
LT SRR - - i ------------

0.1 : : '
0.08F
0.06F 1]
0.04F -+
0.02441
0

1.5H1-+-+

1=-t-

1072

—=— DQM_DisplacedSUSY__mkFit_BDT_
Efficienq —— pom_DisplacedSUSY__mkFit_

Of———————————
O s s
o e e
0.07F--|H ' : ' '
0.06F {711 4
0.05F - [tH-L:t- 1l
0.04
0.03E}
0.02E}
0.01}
O

BI={ L) O S I P

[ Efficiency vs. sim PV z |
0.05— : : : : : :
00
00
00S--o

Tl
P IRNEI| ++H+++++H++ .
0015— +++++++++++
oo f bl
R I RS E S S S

T ]l

-20 -15 -10 -5 0 5 10 15 20




	Contents
	Page 1


